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QUESTION 1

What is the MAIN benefit of designing tests early in the life cycle?
A. It is cheaper than designing tests during the test phases.

B. It helps prevent defects from being introduced into the code.

C. Tests designed early are more effective than tests designed later.
D. It saves time during the testing phases when testers are busy.

Correct Answer: B

QUESTION 2
Given the following fragment of code, how many tests are required for 100% decision coverage?

if width > length then biggest_dimension = width if height > width then biggest_dimension = height end_if else
biggest_dimension = length if height > length then biggest_dimension = height end_if end_if

A 3
B.4
C.2
D.1

Correct Answer: B

QUESTION 3

The above diagram represents the following paths through the code.
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A. vwy

B. vwz

C. vxy

D. vxz

What is the MINIMUM combination of paths required to provide full statement coverage?
A A

B. ABD

C. ABCD
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D. ACD

Correct Answer: A

QUESTION 4
Given the following state transition diagram

Which of the following series of state transitions contains an INVALID transition which may indicate a fault in the system

design?
N Gl
Login \II E-ruw;bl (Eas ket Chm:k-) Pa—;\ ®
i

', out
A. Login Browse Basket Checkout Basket Checkout Pay Logout.

. O

B. Login Browse Basket Checkout Pay Logout.
C. Login Browse Basket Checkout Basket Logout.
D. Login Browse Basket Browse Basket Checkout Pay Logout.

Correct Answer: C

QUESTION 5

What is the MAIN objective when reviewing a software deliverable?

A. To identify potential application failures by use of a test specification.
B. To identify defects in any software work product.

C. To identify spelling mistakes in a requirements specification.

D. To identify standards inconsistencies in the code.

Correct Answer: B
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